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Algebra I Name
Practice- Functions Date Period___

1) Decide whether each of the following ordered pairs are solutions to the function f(x)
= x+5. Show all your work for full credit.

a) (-3,8) b) (27)  ©)(0,-5) d) (5, 0)
2) Use the table of values to graph the function.
x | f)=- |69 | 0y
—2(x+1)-4 B
-4 -2 (-YH )7 > | (-9,2) e
0 ) 4V ey - é? ) ol BT ET Rk 418 11b
2 2/ ¢\ ~L T F
5 / ‘
e
3) Evaluate the function for D: {-2, -1, 0, 3, 5}. Then graph the function.
5 iﬂ'ex s
- 2 / (s}
g(x)=x*1 |g(x)| (x.y) 1
A / ] i -
- - lol BTk T 8 [1h
. R
A j ‘;\ # : . o
I o=




List the ordered pairs, domain, and range for the given functions

4) 5)

AV

3
4| -2
5 | 10
OP 1) (3 o L5 0) (& S
) 3 (
D > ) R D: M%: > >R H )

6) t 7)
YesorNo: _ /. Yesor No: _“ &>
Explain: £AICS Explain: [(ASS
8) x | f(x) 9

-1 | -10

3 14

4 | -32

5 | -10

3| -5

. Ve <
Yes or No: A ) Y. y &2

Explain: 0 (0570 | Jan Explain: _Zach (4.4 /e

,,,,,,




Algebra 1 Name:
Function Notation Worksheet Hour: Date:

1. Evaluate the following expressions given the functions below:

gx)=-3x+1 f(x)=x2+7 h(x):l-z— j(x) =2x+9
X

a g10)= -3C) +] = 2]

2 . r
b. f3)= 2 +} =16

l"(,;‘ - o ‘,‘
c. h(-2)= =7 ~ o

.G -~ 9
a im= /171~ A5

| A

e. h(a) = “5{‘

¢ Findxifg)=16 O

1’ . o - I _,"
g. Findxifh(x)=—2/- -2= %y X /_’2:7(’12. xX="k

i 2 2 I
(~.(~h. Findxif f(x) =23 Q%: X t; ~* % [&

i. CHALLENGE! (in other words, optional) glb+c) = - 3L h_fs *."

-3b-3c ¥
j. CHALLENGE! (also optional) f(h(x)) =/ | }\2 1¥Y
e - —
bﬁ / xS
2. Translate the following statements into coordinate points:
a =1 M
-
bo h(2) = 7 {Q 4[ :

M i
{

C. g(l) =-1



d. k(3)=9

%—‘ Given this graph of the function f(x):
Al

h

f(x)
f

=
=4

Find: a - \
5 i) =~ b. €0)= [ ciy=-LY axs =0
e. x when f(x) =2 f. x when f(x)=0

~M‘, u



